Port Lairge Ferries (PLF)

PLF are a large ferry company operating in Southern Ireland. They operate on two routes out of the UK into two ports into Ireland, these routes being Pembroke (Wales) to Waterford (Ireland)  and Liverpool (England)  to Dublin (Ireland). Their ferries service several types of customers. These can be categorised as foot passengers, passengers with cars, coach passengers and commercial vehicles. Each ferry has a certain amount of capacity which is defined in terms of slots i.e. each ferry has a certain amount of car slots, commercial slots and so on. Respond to the following memorandum.
Memorandum

To:
A N Alyst


From:
A Drone

Date:
18/03/2013

Re:
Car passengers

As you know we are currently using eight vessels to service the Dublin route.  Our newest vessel the Columbus has had all sorts of problems. One of our major concerns is the time the crew are taking to turn around commercial vehicles. Although there is obviously some sort of learning curve to be travelled with a new vessel Peter in operations believes that the differences are a concern and that the current times seem to be significantly greater than our existing vessels. John in crewing isn’t so sure it is much of a problem. Could you use some sort of statistical test on the data supplied below to see if the turn around times are different?
Set of 100 observations for Columbus

Time taken for
Frequency

 turn around

of observation


   in minutes

	5
	<
	6
	12

	6
	<
	7
	13

	7
	<
	8
	22

	8
	<
	9
	23

	9
	<
	10
	10

	10
	<
	11
	7

	11
	<
	12
	6

	12
	<
	13
	4

	13
	<
	14
	3


The average performance for the other 7 vessels is 7.9 minutes, with a standard deviation of 1.8 minutes. Could you also draw my attention to other factors that I should possibly take into account when looking at your figures. 
Memorandum

To:
A N Alyst

From:
A Drone

Date:
18/03/2013
Re:
Car passengers

I have spoken to John again about the Columbus and her turn around figures . He believes they have improved. He has taken a new sample from the Columbus and found the results below?

Ship

Standard
Sample size

Mean



Deviation

Columbus
 2.72

112


8.1

Does this change your earlier conclusions.

Regards

